EARAROBEEIERT — 2 N— IBISH —F

2019587120 (B) SEIS%#A1H

mﬂa%sﬁ&%ﬁ 5 ¥5%3®% \ (X&) W \ [REmm]  — | 4 (&) 14000 &
[AE4£] 1% :270,000 ™ ~ 23#%&:63,000”  33%&:27,000” . 437&:19,000 .~ 5 7&:14,000
B ®RB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o3 | EEEh 1:30.0 1-1-1-1 [39.6| — 3 458 | TEARE= (542)
1R 2 | L7 56.0 (=) (5 | B) P )
LT IANIVE B:U—Jd¥v—7 R BEX
- EHRE : -4-5- = Ardces s (aan
) | TAIZZTY LY it 3 ok 1.(3;).0 4-4-5-4 | 40.0 5 (4_436) i (5£42)
L:7¢4H0 B:IAIANTH Y [SE -3
s L 3 4 3 | DIEEEE— 1:31.1 8-8-7-7 |38.0| — 7 400 |SRREX (BHE)
3N 3|V /TLIT L 54.0 (3/4) (-2 |SREBHEE
Libw¥sOo-U— B:TLITLYa— INBHIS
o3 S i 3 | EHEN 1:31.5 3-3-4-5 |40.9| - 4 457 | EAE= (%1)
41717 XIND =N 54.0 ©) (+4) JNRFX :
R:TSv 784K Bt TL RAKS
“ 1R A :31. -2~ . — RER (%)
5 6 ALY —ILT ¥ % 3 we 1(321)9 2-2-2-2 | 41.4 1 <4+777) it A
L:bhwHiOo—)— B:O-XI>T1lb (e Lie: ]
CHTINS it 3 | AEHE 1:32.4 6-6-6-6 |40.8| — 8 379 |BEEHER (5212)
6/505 ’I'"j'*f/%l— 54.0 @ 1/2) (3) | TIeRiE—
LAY TN—2) B:¥A¥avxoy (lsrye]
o B3 | KBS 1:32.6 5532 |41.8| — 2 486 | EEERE] (4)
] 4| TAINT 54.0 m e |AEE A
RibwHFsO—U— B:dqcbru1-> TRERS
= = 4 3 | WTHZ 1:34.0 7-7-8-8 |41.0| — 6 416 | BHIEA (51)
811 ~F7= 54.0 @ (+6) (€)$—1;7
RA—X*¥>JE8L B:I—-22N—F1— B BE
® I —F—@EBIERL
=="F= 2,6,7,8,4,5,1,3
Aol=5r= 2,6,7,8,4,5,1,3
G§a=7r= 2,6,4,7,8,5,3,1
43—+ — 2,(4,6),8,7,5,3,1
[ RN
B OB 2 1,220 714K 2-8 1,480H B E 2-8 8,510M &R 2-3-8 37,180
8 B 2 290M 2-3 3,150/ B H 2-8 19,920M JEH 2-8-3 567,530M
8 280 3-8 4,730
3 1,130

ABICOVWTRDTEEERROODE. TR LIV,




